JFa| W =gl TS |m | AT+ TE AT NEZ
1 | ELA| 372823195232 | 1591495 | 10 |1330. 43(62232016%+x0049 | 1L 4 22 R A MVARAT | EERVA K
2 [HICHE | 37132419%%#x5286 | 155%k+x4302 | 10 |1330. 43]62232016%#x9850 | 11 75 LB LA R MLARAT | F 3984
4 | BRAERAT| 37282319%#kx5216 | 1995111 | 20 [2660. 87[62232016%k+x8630 | Ll 4R == PRI BV ARAT | FERIAAT
8 |JEH3E| 37282319%k#%5227 | 182#+%x8468 | 20 |2660. 87(62232016%*+4409 | 114 % B AR K p ML AR AT | EIRMH
11 | EEAR| 37282319#kx5219 | 131skek1862 [ 20 |2660. 87|62232016%t466697 | 111 AR 2= B A B ERAT | EI&VGAT
12 | RIE4s| 37282319%kxx5251 | 130%#k3022 | 10 |1330. 43916051 10%kx4736 | 1 Z2 LB ARAT ML ARAT | F3898 4
15 | SRARGR | 371324204k4x5267 | 178%#4k2670 | 20 |2660. 87(62232016+#+x0616 | Ll AR 2B AT B M ARAT | FA&IA A
17 | RILZE (3728231955270 | 187442670 | 10 |1330. 43[91605110%+%%x2320 | 1L 22 pE R AT R ARAT | EEiatt
18 sk stk 0 oKk L 2R Z= B AR A R ML AR AT
19 stk sofkok 0 [wkwk Ll 7R 22 B R e ML ARA T
20 sk sk 0 KKK 2R Z B R A R ML AR AT
21 o skokokok 0 koK LR 22 B R A i VAR AT
29 sk sk 0 KKK 2R Z B AR A R M AR AT
23 o skokokok 0 koK LR 22 B R A i VAR AT
24 sk sk 0 KKK 2R Z B AR A R M AR AT
25 o skokokok 0 koK LR 22 B R A i VAR AT
26 sk sk 0 KKK 2R Z B AR A R M AR AT
27 o skokokok 0 koK LR 22 B R A i VAR AT
28 sk sk 0 KKK 2R Z B R A R AR AT
29 o skokokok 0 koK LR 22 B R A T VAR AT
30 seofok ook 0 [wokuk Ll 2R 22 R AR e ML ARAT
31 o koK 0 koK Ll 7R 22 R AR A B AR AT
32 seofok ook 0 [wokuk Ll 2R 22 PR AR R ML ARAT
33 o koK 0 koK Ll 7R 22 R AR A B AR AT
34 seofok ook 0 [wokuk Ll 2R 22 R AR R ML ARAT
35 o koK 0 koK Ll 7R 22 B AR A B L AR AT
36 Kook ook 0 [k L A 22 AR A 7o ML AR AT
37 o koK 0 koK Ll 7R 22 B AR A B AR AT
38 Kook ook 0 [k L A 22 AR A 7o ML AR AT
39 o koK 0 koK Ll 7R 22 R AR A B AR AT
40 ook ook 0 [owrx L A 22 AR A 7o ML AR AT
41 o sk 0 koK AR 22 B R R AR AT
42 stk stk 0 [wkorx Ll ZR 22 B AR 7 L R AT
43 o sk 0 sokokok AR 22 B R A R AR AT
44 sk stk 0 [wkorx UL 2R 22 B AR R R AT
45 o sk 0 koK AR 22 B R R AR AT
46 - stk (O B W 2R Z B AR AT R AR AT
47 o sk 0 koK AR 22 B R A R AR AT
48 - stk (O B W 2R Z B AR AT R ML AR AT
49 o sk 0 koK AR 22 B R R AR AT
50 - stk (O B W 2R Z B AR AT R AR AT
51 o sk 0 skekokok AR 2= B R R AR AT
59 stk sokokok 0 sokok W 2R 2E B AR A AR AT




53 skt skt 0 [sowek IR 22 B AR AT R ML ARAT
54 sk stk 0 oKk L 2R Z= B AR A R M AR AT
55 skt okt 0 [sowek IR 22 B AR AT R M ARAT
56 sk stk 0 oKk L 2R Z= B AR A R M AR AT
57 skt skt 0 [k IR 22 B AR AT R ML ARAT
58 sk stk 0 oKk 2R Z= B AR A R M AR AT
59 skt skt 0 [k IR 2 B AR AT R ML ARAT
60 sk stk 0 oKk L 2R Z B AR AT R M AR AT
61 skl stk 0 |k W 2R Z B AR AT R AR AT
62 sk stk 0 oKk L 2R Z= B AR A R ML AR AT
63 skt skt 0 [k IR 22 B AR AT R ML ARAT
64 sk sk 0 KKK 2R Z B R A R ML AR AT
65 o skokokok 0 koK LR 22 B R A i VAR AT
66 sk sk 0 KKK 2R Z B AR A R M AR AT
67 o skokokok 0 koK LR 22 B R A i VAR AT
68 sk sk 0 KKK 2R Z B AR A R M AR AT
69 o skokokok 0 koK LR 22 B R A i VAR AT
70 sk sk 0 KKK 2R Z B AR A R M AR AT
71 o skokokok 0 koK LR 22 B R A i VAR AT
79 sk sk 0 KKK 2R Z B R A R AR AT
73 o skokokok 0 koK LR 22 B R A T VAR AT
74 skt sokotok 0 [k AR 22 B R AT R M ARAT
75 o koK 0 koK Ll 7R 22 R AR A B AR AT
76 skofotok ootk 0 [whkx AR 22 B R AT R M ARAT
77 o koK 0 koK Ll 7R 22 R AR A B AR AT
78 skofotok ootk 0 [whkx AR 22 B R AT R M ARAT
79 o koK 0 koK Ll 7R 22 B AR A B L AR AT
80 skt skt 0 [k AR 22 B AR AT R M ARAT
81 skt skt 0 [k W R 22 R AT R M ARAT
82 o p— 0 p— Ll 2R 2 B AR A B AR AT
83 skokokok ootk 0 |wkx Ly 2R =2 B AR R I AR AT
84 o p— 0 p— Ll 2R 2 B AR A B AR AT
85 skokokok ootk 0 |wkx Ly 2R =2 B AR R I AR AT
36 o p— 0 p— L AR 22 B R R AR AT
87 kool stk 0 |tk L 2R Z AR A R AR AT
38 o P 0 P L AR 22 B R R AR AT
89 kool stk 0 |tk L 2R Z AR A R AR AT
90 o P 0 P L AR 22 B R R AR AT
91 kool stk 0 |tk L 2R Z AR A R AR AT
92 o P 0 P L AR 22 B R R AR AT
93 kool stk 0 |tk L 2R Z AR A R AR AT
94 o P 0 P L AR 22 B R R AR AT
95 kool stk 0 |tk L 2R Z AR A R AR AT
96 o P 0 P L AR 22 B R R AR AT
97 skl stk 0 |tk L 2R Z AR A R AR AT
98 o P 0 - L AR 22 B R R AR AT
99 kool sk 0 |tk L 2R Z B AR A R M AR AT
100 o P 0 P L 2R 22 B AR A BV ARAT
101 stk sookok 0 sokkok 1 2R =2 B AR M) i AR AT
102 o P 0 P L 2R 22 B AR A BV ARAT




103 sk p— 0 p— L 2R Z B AR AT R M AR AT
104 sofokok sofokok 0 [k Ll 2R 22 B R R I AR AT
105 sk p— 0 - L 2R Z B R AT R M AR AT
106 B~ skl 0 |tk W R =2 AR AT R ARAT
107 sk . 0 p— L 2R Z B AR AT R M AR AT
108 B~ skl 0 |tk W R =2 AR AT P ARAT
109 sk p— 0 - L 2R Z B R AT R M AR AT
110 . sokokok 0 skekekok L 2R = B AR A R AR AT
111 sk . 0 p— L 2R Z B AR AT R M AR AT
112 stk - 0 [k W R =2 AR AT P ARAT
113 sk p— 0 - L 2R Z B R AT R M AR AT
114 stk - 0 [k W R =2 AR AT R ARAT
115 sk . 0 p— L 2R Z B AR AT R M AR AT
116 soksok ko 0 [wkx LI 2R =2 B AR R Y ERAT
117 sk p— 0 KK L 2R Z R AT R M AR AT
118 sk -~ 0 skekekok L R = B AR A R AR AT
119 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
120 sk — 0 skekekok L R = B AR A R AR AT
121 skokotok stk 0 |whkx Ll 2R =2 B AR R Y ERAT
122 sk -~ 0 skekekok L R = B AR A R AR AT
123 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
124 sk — 0 skekekok L R = B AR A R AR AT
125 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
126 sk — 0 skekekok L R = B AR A R AR AT
127 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
128 sk — 0 skekekok L R = B AR A R AR AT
129 sk p— 0 KK L 2R Z B AR AT R M AR AT
130 sk — 0 skekekok L R = B AR A R AR AT
131 skofokok ootk 0 |wkx LUy 2R == B AR R IV AR AT
132 sk sekokok 0 skekekok L R 22 AR A R AR AT
133 stk ko 0 [hwkx Ll 2R =2 B AR R Y ERAT
134 sk sekokok 0 skekekok L R 22 AR A R AR AT
135 stk ko 0 [hwkx Ll 2R =2 B AR R Y ERAT
136 sk sekokok 0 skekekok L R 22 AR A R AR AT
137 skofokok ootk 0 |wkx Ly 2R == B AR R I AR AT
138 sk sekokok 0 skekekok L R 22 AR A R AR AT
139 stk ko 0 [hwkx Ll 2R =2 B AR R Y ERAT
140 sk sekokok 0 skekekok L R 22 AR A R AR AT
141 skofokok siofotok 0 |wkx Ll 2R =2 B AR R Y ERAT
142 sk sekokok 0 skekekok L R 2E B R A R AR AT
143 seftok ko 0 [hwkx Ll 2R =2 B AR R Y ERAT
144 sk sekokok 0 skekekok L R 2E B R A R AR AT
145 sefok ko 0 [hwkx Ll 2R =2 B AR R Y ERAT
146 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
147 — stk 0 [k W R 22 AR AT R M ARAT
148 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
149 — stk 0 [k W R 22 AR AT R MV ARAT
150 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
151 — stk 0 [k W R 22 AR AT R MV ARAT
152 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
153 — stk 0 [k W R 22 AR AT R MV ARAT
154 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
155 — stk 0 [k W R 22 AR AT R MV ARAT
156 sk seokokok 0 skekekok L AR =2 B R A B DI AR AT
157 — stk 0 [k W R 22 AR AT R M ARAT
158 sk seokokok 0 R L AR 22 B R A B DI AR AT
159 — stk 0 [k W AR 22 R AT R M ARAT
160 sk p— 0 R L AR 22 B R R M AR AT
161 stk sookok 0 sokkok 1 2R =2 B AR M) i AR AT




162 sk p— 0 p— L 2R Z B AR AT R M AR AT
163 B~ skl 0 |tk W R =2 AR AT P ARAT
164 sk p— 0 - L 2R Z B R AT R M AR AT
165 B~ skl 0 |tk W R =2 AR AT R ARAT
166 sk . 0 p— L 2R Z B AR AT R M AR AT
167 B~ skl 0 |tk W R =2 AR AT P ARAT
168 sk p— 0 - L 2R Z B R AT R M AR AT
169 B~ skl 0 |tk W R =2 AR AT R ARAT
170 sk . 0 p— L 2R Z B AR AT R M AR AT
171 sofokok sofokok 0 [k Ll 2R 22 B R R I AR AT
172 sk p— 0 - L 2R Z B R AT R M AR AT
173 B~ skl 0 |tk W R =2 AR AT R ARAT
174 sk . 0 p— L 2R Z B AR AT R M AR AT
175 B~ skl 0 |tk W R AR AT ARAT
176 sk p— 0 KK L 2R Z R AT R M AR AT
177 sk -~ 0 skekekok L R = B AR A R AR AT
178 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
179 sk — 0 skekekok L R = B AR A R AR AT
180 skokotok stk 0 |whkx Ll 2R =2 B AR R Y ERAT
181 sk -~ 0 skekekok L R = B AR A R AR AT
182 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
183 sk — 0 skekekok L R = B AR A R AR AT
184 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
185 sk — 0 skekekok L R = B AR A R AR AT
186 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
187 sk — 0 skekekok L R = B AR A R AR AT
188 sk p— 0 KK L 2R Z B AR AT R M AR AT
189 sk — 0 skekekok L R = B AR A R AR AT
190 stk ko 0 [hwkx Ll 2R =2 B AR R Y ERAT
191 sk sekokok 0 skekekok L R 22 AR A R AR AT
192 skofokok ootk 0 |wkx LUy 2R == B AR R IV AR AT
193 sk sekokok 0 skekekok L R 22 AR A R AR AT
194 skofokok ootk 0 |wkx Ly 2R == B AR R I AR AT
195 sk sekokok 0 skekekok L R 22 AR A R AR AT
196 stk ko 0 [hwkx Ll 2R =2 B AR R Y ERAT
197 sk sekokok 0 skekekok L R 22 AR A R AR AT
198 skofokok ootk 0 |wkx Ly 2R == B AR R I AR AT
199 sk sekokok 0 skekekok L R 22 AR A R AR AT
200 stk ko 0 [hwkx Ll 2R =2 B AR R Y ERAT
201 sk sekokok 0 skekekok L R 2E B R A R AR AT
202 skofokok ootk 0 |wkx Ly 2R == B AR R I AR AT
203 sk sekokok 0 skekekok L R 2E B R A R AR AT
204 skofokok ootk 0 |wkx Ll 2R == B AR R IV AR AT
205 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
206 — stk 0 [k W R 22 AR AT R M ARAT
207 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
208 — stk 0 [k W R 22 AR AT R MV ARAT
209 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
210 — stk 0 [k W R 22 AR AT R MV ARAT
211 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
212 — stk 0 |tk W R 22 AR AT R MV ARAT
213 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
214 — stk 0 |tk W R 22 AR AT R MV ARAT
215 sk seokokok 0 skekekok L AR =2 B R A B DI AR AT
216 — stk 0 [k W R 22 AR AT R M ARAT
217 sk seokokok 0 R L AR 22 B R A B DI AR AT
218 — stk 0 [k W AR 22 R AT R M ARAT
219 sk p— 0 R L AR 22 B R R M AR AT
220 - Hofotok 0 Fofotok W 2R 22 B R B AR AT




291 sk p— 0 p— L 2R Z B AR AT R M AR AT
222 stk - 0 [k W R =2 AR AT P ARAT
293 sk p— 0 - L 2R Z B R AT R M AR AT
224 stk - 0 [k W R =2 AR AT R ARAT
295 sk . 0 p— L 2R Z B AR AT R M AR AT
226 soksok ko 0 [wkx LI 2R =2 B AR R Y ERAT
297 sk p— 0 - L 2R Z B R AT R M AR AT
298 . sokokok 0 skekekok L 2R = B AR A R AR AT
299 sk . 0 p— L 2R Z B AR AT R M AR AT
230 B~ skl 0 |tk W R =2 AR AT P ARAT
231 sk p— 0 - L 2R Z B R AT R M AR AT
239 . sokokok 0 skekekok L 2R = AR A R AR AT
233 sk . 0 p— L 2R Z B AR AT R M AR AT
234 sofokok sofokok 0 [k Ll 2R 22 B R R I AR AT
235 sk p— 0 KK L 2R Z R AT R M AR AT
236 sk -~ 0 skekekok L R = B AR A R AR AT
237 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
238 sk — 0 skekekok L R = B AR A R AR AT
239 skokotok stk 0 |whkx Ll 2R =2 B AR R Y ERAT
240 sk -~ 0 skekekok L R = B AR A R AR AT
241 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
242 sk — 0 skekekok L R = B AR A R AR AT
243 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
244 sk — 0 skekekok L R = B AR A R AR AT
245 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
246 sk — 0 skekekok L R = B AR A R AR AT
247 sk p— 0 KK L 2R Z B AR AT R M AR AT
248 sk — 0 skekekok L R = B AR A R AR AT
249 seftok ko 0 [hwkx Ll 2R =2 B AR R Y ERAT
250 sk sekokok 0 skekekok L R 22 AR A R AR AT
251 skofokok ootk 0 |wkx LUy 2R == B AR R IV AR AT
2592 sk sekokok 0 skekekok L R 22 AR A R AR AT
253 stk ko 0 [hwkx Ll 2R =2 B AR R Y ERAT
254 sk sekokok 0 skekekok L R 22 AR A R AR AT
255 stk ko 0 [hwkx Ll 2R =2 B AR R Y ERAT
256 sk sekokok 0 skekekok L R 22 AR A R AR AT
257 skofokok ootk 0 |wkx Ly 2R == B AR R I AR AT
258 sk sekokok 0 skekekok L R 22 AR A R AR AT
259 stk ko 0 [hwkx Ll 2R =2 B AR R Y ERAT
260 sk sekokok 0 skekekok L R 2E B R A R AR AT
261 skofokok ootk 0 |wkx Ly 2R == B AR R I AR AT
262 sk sekokok 0 skekekok L R 2E B R A R AR AT
263 stk ko 0 [hwkx Ll 2R =2 B AR R Y ERAT
264 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
265 — stk 0 [k W R 22 AR AT R M ARAT
266 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
267 — stk 0 [k W R 22 AR AT R MV ARAT
268 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
269 — stk 0 [k W R 22 AR AT R MV ARAT
270 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
271 — stk 0 [k W R 22 AR AT R MV ARAT
2792 sk seokokok 0 skekekok L 2R 22 B R A B DI AR AT
273 — stk 0 [k W R 22 AR AT R MV ARAT
274 sk seokokok 0 skekekok L AR =2 B R A B DI AR AT
275 — stk 0 [k W R 22 AR AT R M ARAT
276 sk seokokok 0 R L AR 22 B R A B DI AR AT
277 — stk 0 [k W AR 22 R AT R M ARAT
278 sk p— 0 R L AR 22 B R R M AR AT
279 stk sookok 0 sokkok 1 2R =2 B AR M) i AR AT




280 stk ook 0 [k LU 2R == P AR P P AR AT
281 . sokokok 0 skekekok L R = B AR A R AR AT
282 stk Kook 0 [k LU 2R == P AR P P AR AT
283 B~ skl 0 |tk W R =2 AR AT R ARAT
284 stk ook 0 [k LU 2R == P AR P P AR AT
285 B~ skl 0 |tk W R =2 AR AT P ARAT
286 stk Kook 0 [k LU 2R == P AR P P AR AT
287 B~ skl 0 |tk W R =2 AR AT R ARAT
288 stk ook 0 [k LU 2R == P AR P P AR AT
289 B~ skl 0 |tk W R =2 AR AT P ARAT
290 stk Kook 0 [k LU 2R == P AR P P AR AT
291 skofokok sofokok 0 [opek LU 2R 22 B AR R I AR AT
292 stk ook 0 [k LU 2R == P AR P P AR AT
293 B~ skl 0 |tk W R AR AT ARAT
294 sk p— 0 KK L 2R Z R AT R M AR AT
295 sk -~ 0 skekekok L R = B AR A R AR AT
296 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
297 sk — 0 skekekok L R = B AR A R AR AT
298 skokotok stk 0 |whkx Ll 2R =2 B AR R Y ERAT
299 sk -~ 0 skekekok L R = B AR A R AR AT
300 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
301 sk — 0 skekekok L R = B AR A R AR AT
302 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
303 sk — 0 skekekok L R = B AR A R AR AT
304 skokotok stk 0 |whkx Ll 2R =2 B AR B Y ERAT
305 sk — 0 skekekok L R = B AR A R AR AT
306 sk p— 0 KK L 2R Z B AR AT R M AR AT
307 sk — 0 skekekok L R = B AR A R AR AT
308 skofokok ootk 0 |whkx LUy 2R == B AR R IV AR AT




